) = b[e) Ej3 #® 8 g = % % b[e) #® #
R BREGH BREE AN BREGH HREEE
ER24%E | 23| IR | T4 | FR23E| IR | TFR24F | FR23E| EIE | TFR24F | FR23E| BE | FR24F | FR23E| BIE | FR24FE | FR23E| EiRE

B T # % 145 153 -8 143 130 13 98.6 85.0 13.6 1,784 2,009 -225 1,070 1,347 -277 60.0 67.0 -70
[ 1T ) 65 58 7 64 46 18 985 79.3 19.2 773 884 -111 599 475 124 775 53.7 238
554X 30 27 3 24 24 80.0 88.9 -8.9 377 413 -36 186 170 16 493 412 8.1
2bH R 18 15 3 18 10 8 100.0 66.7 333 123 216 -93 73 57 16 59.3 26.4 329
SHREK 6 5 1 5 2 3 83.3 400 433 112 85 27 58 37 21 51.8 435 8.3
SHEK 11 11 12 8 4 109.1 727 36.4 161 170 -9 91 58 33 56.5 34.1 224
2 B 0w 39 49 -10 40 44 -4 102.6 89.8 12.8 470 391 79 170 352 -182 36.2 90.0 -5338
b= TT R ) 12 11 1 10 9 1 83.3 8138 15 120 108 12 44 52 -8 36.7 48.1 -114
E B W 5 3 2 5 3 2 100.0 100.0 31 33 -2 22 11 11 710 333 377
¥ MM W 1 -1 1 -1 -| 1000 | -1000 27 39 -12 15 10 5 55.6 25.6 30.0
R 2 1 1 1 1 50.0 100.0 -50.0 32 33 -1 20 17 3 625 515 11.0
B o ™ 5 4 1 7 1 6 140.0 25.0 115.0 52 119 -67 32 72 -40 61.5 60.5 10
=5 B W 3 3 1 3 -2 33.3 100.0 -66.7 27 26 1 15 13 2 55.6 50.0 5.6
¥ R 0w 1 1 1 1 100.0 100.0 15 20 -5 12 9 3 80.0 450 35.0
" @1 W 2 2 2 1 1 100.0 -| 1000 33 58 -25 17 56 -39 515 96.6 -45.1
WFEF AT 2 -2 2 -2 - 100.0 | -100.0 32 42 -10 19 21 -2 59.4 50.0 9.4
B mWm 4 -4 1 2 -1 - 50.0 -50.0 33 32 1 15 55 -40 455 1719 | -1264
E E ™ 1 3 -2 1 3 -2 100.0 100.0 21 30 -9 18 18 85.7 60.0 25.7
x W 1 1 1 1 100.0 - 100.0 41 39 2 18 62 -44 43.9 1590 | -115.1
% 0O ™ 1 2 -1 1 2 -1 100.0 100.0 11 41 -30 5 10 -5 455 24.4 21.1
1 UERF0 < ET 2 2 1 2 -1 50.0 100.0 -50.0 9 22 -13 3 42 -39 333 1909 | -157.6
EME R SHET 2 2 - - 13 13 12 8 4 923 61.5 30.8
% OBD B HT 2 -2 2 -2 - 1000 | -100.0 4 10 -6 2 8 -6 50.0 80.0 -30.0
/Iy B & B ET 1 -1 1 -1 - 100.0 | -100.0 11 10 1 7 3 4 63.6 300 336
BEREAIER - - 1 2 -1 2 2 200.0 200.0
= H AR 8% BF AT 1 1 1 1 100.0 100.0 7 17 -10 6 5 1 85.7 29.4 56.3
Fé5 R AR g5 R T 1 1 1 1 100.0 -/ 1000 5 5 5 1 4 100.0 20.0 80.0
Fé5 FH BB 2= S AT - - 1 1 1 1 100.0 -| 1000
EEBABEAH - - 1 4 -3 2 2 200.0 200.0
AKREBAKFGET 3 -3 3 -3 -| 1000 | -100.0 2 4 -2 2 2 100.0 50.0 50.0
A K B 3 I BT 1 -1 1 -1 -| 1000 | -1000 7 15 -8 5 33 -28 714 2200 | -1486

AN B (s ch T 3 3 2 2 66.7 - 66.7 5 10 -5 2 4 -2 400 400

Z O ith O T BT - - 6 -6 - -
]85 1 1 1 1 100.0 100.0 2 -2 1 -1 - 50.0 -50.0




